
Total Time:2 Hrs 
Maximum Marks 100 

Qead the following instruction carefully. 

Examination for JE/Elect/G 

There.are 100 multiple choice question + (10 question of Rajbhasha) with (ABCD) option, having 

action l; section ll, section l and setion IV each question carry 1 nark. 

taction IIl have English and Hindi (Rajbhasha) of 10 question each, you have option to choose either 

Eoslish r Hindi. There shall be negative marking for incorrect answer. One third marks a!lotted for 

atch cuestion will be deducted for wrong answer. To ensu: Juthenticity of the answer cutting, 

vewriting, erasing or alteration of any type in the answer will not be accepted. Zero marks il be 

100 teeUT UN (T9T 10 g) (vftr) faches reGH S I;s 

(a) 1677 (b) 1683 (c)523 (d) 3353 

11TE ii rurnber which when divid:d by 5, 5, Tand } 'eves ae3, but when divided y 

aj 30 b) 25 

a) 15 krn 

2) The ages of two persons differ hy i6 years. f years ago, the elder one was 3 times as old as the 
younger one. What are their present ages ot tine sier person?/ A Ti ot 3T 16:fa 

Date 5/03/2022 

Section! 

b) 2 km 3 km 

35 

3) Suresh walks from his home to Bus statiun. If he walks at the speed of 9 kmph, he reaches the bus 
station 2 minutes before the arrival of the bus. Howeve.r if he walks at the speed of 6 kmph, he 

'sses the bus by 2 miiutes. Find he distance covered by hin to reach the bus station. According 

distarnce between his house and schooi is/R H4- R l QG H do Tcdi I yfa a9 î54t 

H 

d) 2.5 km 

given for answer having correction/overwriting. The candidate should use either biue or black pen. 

All answer shoutd be written with the same color of ink. 

9 lever remainder, is:/ 4F scr a HSAI 5, 5, 7 31; siatf F R3 



4) A sum of money at simple interest anounts to Rs. 2240 in 2 years and to Rs. 2600 in 5 years. What 
is the principal amount?/ HITRU GU VG IfR 2 HI Rs 2240 3t s5 HIH Rs 2600. 

a) 2000 b) 2100 

a) ?30 m b) 240m c) 245m 

S) A 27G metres long train running at the speed of 120 kmph crOsses another train running in 

opposite direction at the speed of 80 kmph in 9 seconds. What is the length of the other train?/ 120 

a) No profit, nc toss 

5) 8, 6, 9, 23, 87,... What number should come next?./ 3TOT HlG HI A 311GT TI? 
a) 429 b) 146 c) 346 d) 91 

a) 13 b) 14 

7) A trader mixes 26 kg of rice at Rs. 20 per kg with 30 kg of rice of other variety at Rs. 36 per kg and 
sells the mixture at Rs. 30 per kg. His profit percen is:/ y Aqt 26 fhT Td Ì*. 20 4a 

a) 10 b) 11 c) 12 

b) 5 

8) The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, find out the value of x?/ 20 dtq30 hT hU HU x at3t faghy He� HHIet I IH 25%, tx 

c) 15 d) 16 

LO) OAR, RAS, SAT, TAU, 

c) 2050 

a) 2% b) 2.02% 

9; Shush and Komal can do a job together in 7 days. Shush is 7/4 times as efficient as Komai. The same job can be done by Shush alone in i hR FHG V5 HY YF HI Ì 7 ft h HhI 

a) UAV ) JAT c) TAV d) TAT 

a) 66 b) 67 

d) 13 

d) 250 

d) 1900 

c) 10 d) 8 

L in excess is ..ade while measuring the side of a sq'uare. The percentage of error in te ca' ulated ara of the suare :/ 4 qt ht oT Hs EcT 2% 3fch 
c) 4% d) 4.04% 

cl 69 d) 69 

12) The product of two consecutive od' umbers is 4623. Which is the greater of the twO numbers./ 

t 

13) 1f an angle is its own complementary angle, then its measure is/t v U Fa h Rc T 



a) 45 b) 90 c) 180 d) 360 

14) SOUND : CACOPHONY 
a)speech: oration 

a) 10 b) 11 

.cChoose the word which is ditferent from the rest./ 3 R6c hI T fU tfht foc b) Swan c) Chicken a) Snake 

b) touch: massage 

es7 10. 11. 9, 12, . What number should come ncxt?/ 1, 10, 8, 11, 9, 12, ... 3H1 hiA Ì HG1 

c)12 d)13 

a) Geoetric series 

fy exceeds x by 20%, then x is less than y by? /ufa y. x À 20% 31frea , at x, yà fhetl rai t? 
c) 16 2/3 a) 16 b) 16 1/3 

a) 10 b) 11 c)12 

20) 0.003 x 0.02 =? 
a) .006 b).0006 

ss)2.4,6,8.10,' 2, 1 us series is callea?/ 8. 2,4,6,8, 10, 12,..5H HUHI FI aT? 

.2 umDS, working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4 
numps work to empty the tank in 1 day? 3 q4, f 8 EI HH htà R, G t 2 fat art 

d)13 

c) smeil: stench 

b) A.P. c) G.P. d) Arithmetic series 

c).00006 

a) Mahanadi bl Kaveri 

a) Turn key 

d) Frog 

d) 16 3/5 

d) Piezo Lamp Connector 

21) W'hic th of the foilowing rivers flows from south to north directio?/feeraT A a 

d) .000006 

b) Alt key 

22) What does the term PLC stand for?/T TG HT T 32? 

c} Son d) Krishna 

a) Programmable Lift Computer b) Program LBt Conrol 

d) taste: style 

Section - ! 

c) del key 

24 What was UNIVAC?/ Z1ah FU| 2T? 

3) Which of the foliowing Key is not found in normal conputers / laptops?/ ate hta iÌ qoi 

dj shift key 

c) Programmable Logic Controllei 

a) A computer b) A Super computer c) A software PrOgramme d) A Computer Manufacturer 

25) What is the force of attraction between any two bodies by virtue of their masses is called?/ 

3 



a) Electromagnetic Force b) Gravitation al for ce c) Centripetalforce d) Nuclear Force 

26) The capac1ty of a tbody to do wor kis known as /1h) 0g bà h hl eH a) 

a) Energy b) Power c Strength d) Momentum 

27) Which is the oldest Mountain range in india./ ARA E) HA qIl udeT 4eI 
a) Aravali b) Vindvan c) satpu:- ) Himalaya 

2817nc Parliament of India is consisted of 

a) Lok Sabha & Rajya Sabha b) Lok Sabha & Rajya Sabha & President c) Lok Sabha, Rajya Sabs President & Prime Minister d) Lok Sabha, Rajya Sabha & Council of Ministers 

29) What is the maximum strength of Rajya Sabha?/IHHT ST 31ghcH HGYT fht ? 
) 250 bi 38) 242 d) 248 

30) Which among the following option would normally have the highest Biological Oxygen Deman 

aj A running river b) A running polluted river c) Untreated Municipal waste water d) Ocean water 

:Whirh of the following countries is not having area more iivai India./faeterad f 

a) Russia bj Bazil c) Lurerla a) rane 

32) Which of the following is a Rabi Crop?/ Aaifa À AT h4H? 

Rice b) Mustard c) cotton d) Maize 

33) Which is the iatest produrer of Coconut in the country?/I Aol 5T HN geT 3cucc 

a) Orrisa b) West Bengal cj Kerela d) Karnataka 

34) The National Institute of So'ar Energy is headquartered at?/ Teiy A 5 HH HI Hl 
a) Gurugram b) New Delhi c) Mumbai d) engaluru 
35) Which among the following is known as -lack gold?/ fafafad hà aleI ldI hgI lil 

a) gtfH b) Gô}UcHT c) ^T d) i5 
a) Petroleum b) Coal c)Graphite d) Coke 



I26-37) chose the most appropriate answer of the following word, 
36) Abandon 

a) Forsake b) Keep c) Cherish d) Enlarge 
37) Diligent 

(a) industrious (b) Modest (c) Energet c 

.39) chose the most opposite answer of the following word. 
3S) OUTLANDISH 

39) SACROSANCT, 

a) Quirky b) Conventional c) Atypical o Real 

influx b) Profane c) Retu!n dj Restoration 

AD)3h tihe iWg westions tird the correctiy speit word 

a1 S2annaisance : ia Ssano c) Keas,ance d) Renaisance 

41) Correct the senterce gramatically : She went to gym despite of her illness. 

al to b) despie c) of d) none of the above 

42) Directions (42- 45): In the following questions each sentence has an underlined part that can be 

imoroved by replacing the part with one among the four options given below. Choose the correct 

option and if you think no improvements can be made, then select (d) as your answer. 

a That she spoke 
42 The main point of her speech was well understood. 

b) Made when she spoke 

c) Made by her speech 
d) No improvement 

43. Potatoes erc dead cheap these days. 

a) Deadly Chea 
b) Dirt Che3p 
c Dust Cheap 

Section -l| 

d) No improvement 

(d) Intelligent 

Directions (44 - 45): The following sentences have a certain phrase highlighted in bold. Choose the 

Correct phrase from the options given below to replace the highlighted phrase and make it 

rammatically correct. Ignore punctuation errors if any. 

a) Instigate the buil's-eye 
44. Your rernark about finances reach the huil's-eye. 

b) gnore the bull's-eye 
c) Approach the bull's-eye 
d) Hit the bull's-eye 

a) An equality test 
43. His views on fermale foeticide are effectively a paper test of his views on women's rights. 

b) an eraser test 
c) a litmus test 

d) a gender test 

/MI 

n 

D 



46) in which part and in which Article of the Constitutions Provision regarding the Language to he 

used for transaction of business in Parliaments exists?/ HaUT QH H ATJT 31R fhH 3HGt 

a) Article 120 b) Articie !22 c) Article 123 

Or 

d) Article 124 

47) In which part and which Article of the constitution provision regarding the language to be used 

for transaction of business in State Legislature exists? / Htae foH HT34 fhH 31L 

a) Article 210 b) Article 211 c) Article 212 d) Article 214 

48) Which articles of the Constitution contains provision regarding the Official Language of the 

Union of india? / HTRN HY âT VGHIAT Hy ifaN feht 34G[st uraENE? 
a) Ar ticle 348 and 349 b) Article 341 and 342 c) Article 343 and 344 d) Article 345, and 346 

49) Which article of the Constitution contains provision regarding the language to be used in the 

a) Article 348 and 349 b) Article 341 and 342 c) Articde 343 and 344 d) Article 345 and 346 

50) Which article of the Constitution contains provision regarding the Official Language of states? | 

b) 20 c)21 d)22 

a) Artice 345 b) Article 344 c) Article 346 

51)At present how many languages enlisted in the Eight Schedule of the Constitution? / �tHlH À 
d) Article 337 

) According to Article 343 (1) of the Constitution, Hindi in which script is the Official Language of 
the Lnion of India? (ifaura 3qdz 343 (1) * 344qHR, fRa fAu fafr RA jy A TJHIN? 
a) Hindi in Devanagari script b) Sankrit c) Hindi d) None 

53)AS per the Constitution, when should Hindi have become the Official Language of the Union of 

a) 26.01.1966 F 13.02.1965 ) 26.01.196S d) )3.02.1966 

54) Who was the Chairman of Official Language Commission? /GT3TT 3TET HlG? a) Shri B.G. Mavlankar b)Shri B.G.Kher) c) Shri Raghunath Jha d) Vijay Pannikar 
55) When is the Hindi Day celebrated every year? / HIH RdT H hq HT ollil F? a) 12th September 13th September c) 12th September d) 14th September 
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67. Which of the following is used for the measurement of the insulation resistance?/ SRG Ufe 

a) Megger b) Watt meter ) Amrneter 

68. In BLDC motor field winding is kept on 

a) Stator b) Rotor 

a. 40-60% b. 80 - 100% c. 20- 40% d. None 

59. The relative humidity for the human comfort zone is/ H|Hd 3TRI� U Itco 31 À 

a. 357 rpm b. 600 rpm 

) Can be placed anywhere 

70. Minmum sped for ful! output of 4.S KW 120V TL altern ator, recommended by RDSC is j ROSO 

H�Rrfta 45 KW 120V TL CRAET qo seIGT fer YAH If 

d) Voltmeter 

c. 800 rpm d. 1000 rpm 

71. The air con ditioning system used in Railway coaches is /ed lati uyi W ÓSfiReHÈ 

a. Vapor compressor system b. Circulation of cold water system c. lce activated system d. All of the above 

) Absent 

72. Battery capacity depends upon Aet HGT afr a 

Sze and no. of plates b) Quentity of active matenal present c antity of electrolyte d) A e abc.E 

i one ton of refrigeration is equal to / ADA GRIST il 

a. 120uu Btu/ nt o. 6000 Btu/ hrc. 2000 Btu/ hr d. None. 

74. Capillaqy tube is also called as/ 1rO| A+ asi f oI II� 

a) 120AH 

a. Condenser b. Evaporatorc (orprPssor d. Exparion value 

a. 800Ah b. 70Ah c. 1100Ah d. 90Ah 

75. What is the rating of Battery used in LHB AC Coach/ LCIyTil laJqu à dt àt t 

tj 210Ah 

76 The capacity of Battery used in 110V T.L system! 110V TL LH 5 r HT 

c) 320Ah d) 90AH 

77. Trickle charging of storage battery help to /Fttf eher ifst AT At 



a) Compensate for internal losses 

8 1GBT are used as/ IGBT l tm tshl lll 

a High frequency switching device 

b lluminating device 

b) Maint ains proper electrolyte c) Increase its capacity 

c. Low frequency switching device 
d. Amplifier 

3 Which of the foilowin8 ampere-second could be the unit 

.Roluctance b. Charge c. Power d. Energy 

SO. Which of the following materials has the least resistivity /Pufetfda a foH qGI oÌ gfcRÌgcoctl H 

A Zinc B. Lead C. Mercury D. Copper 

81. The power factor of an inductor, moto under no-load cunditions will be closer toH|-cIS Ruri H 

a. 0.2 lagging b. 0.2 leadingc. 0.5 leading d. unity 

82. The insulating materia! for cables should/ paio fs BHe H aify 

a. be acid proof b. be non-inflammable c. be non-hygroscopic 

83. Which of the following is present insicde the fluorescent tube? /1cit3d RRc fG 

2. arEC and neon b. argon and CO2c. mercury variourd. heium and Oxygen 

84. Illumination of cne umer per sq. metre is called. 

a. lumen metre b. Lux c. foot candie d candela 

d) None 

85. Sulphation occurs due to/ HhUA f aRU t 

d) All the above 

d. have all above properties 

al Cells kent un.der discharged conaition b)Cells kept undet not tuliy charged condition c) Cells over 

charged 

(a) 0.9 (b) 0.92 (c) 0.95 (d) 0.98 

86. Provision of rebate by state lcctiicity authorily is appicable if the power factor is kept above/ id 



87. Candela/metre square is the unit of which photometric quantity? /hs i/iTT Tut fhH 

(a) Luminous fiux (b) Luminance (c) Lumninous Intensity (d) lluminance 

88. What is the work of a driver in case of an LED?/ S HIH S15aR h FT h1I a t 

a) To convert AC to DC b) To convert DC to AC c) Both a and b (d) None 

89 Zener diodes are commen'y used as/ 31ug T rrHar JUuT fabut uT 

(A) Rectifer, e) AmplifierC) Voltage regulator( D) Fiter 

90. Total flux or lumens required in any lighting scheme depends inversely on /TeT HT TRT C4RIà 

(A) utilization factor. (B) reduction factor. (C) reflection factor. (D) Weber Turns/Ampere 

91. Sparking occurs when a load is switched off because the circuit has high / FIchdT RIr t a gte 

(3) ufat (�) HfQENG () HAIS (S) ufrart 

(A) Resistance (B) lnductance(C) Capacitance (D) lmpedence 

92. Enerey stored in inductor is:/ w DUATT HYa f 
(A) W=(1e)u°{8) W= (1/2)utc) W-(:/2)L(D) W= (1/2)L 

93- If the efficiency of a machine is to be high, what shoule be iow? ht HR ZHI H 

(A) Inpu 2ower (B) Losses (C) Ratio of out to input (D) all of above 

94. Current division principle is applicable for:/ dhara faHTHAS0d ’ fau RI B? 

a) Series di uit:. only b) Parallei circuits only c) Both of these d) None of these 

95.Out of the following, which one is not a source of electrical energy?/ afced H 0ad 
a) Solar cell b) Battery c) Potentiometer d) Generator 
96. Wattage of TL Farn / o ae HdI a) 32W b)10W c)30V: d)6cw 
97. Which of the following could be the value of resistivity of copper1fefa A G dld « 

a) 1.72 x 10* Q-m b) 1.72 x 10° Q-m c) 1.72 x 10 Q-m d) 1.72x 10° Q-m 

10 



98. The exciter in a DG set is/S0u Àah 

la) Shunt generator (b) Compound generator (c) Either of a or b 

99. In house wiring the black wire indicates the/ JU AIut l R SA h{cll 

(a) Phase (b) Neutral(c) l arth wire (d) Dead wire 

00 The direction of rotation of a synchronoUs niotor can be reversed by reversing / dlit 41C 9 

a Current to the field winding b.Stioply phase sequence c.Polarity of rutor poles 
d.None of the above 

101 Which lamp has the best Colour Rendering Index (CRI)2 fh tu as1 3herr tsftu gtFH (CRI) HAÈ HST 

a) LED 

102 In an eletric kettle water boiis in 10 m minutes. 1 squired to boil the 
boiler in 15 minutes, using same supply mains ded& fFante a1 TTH ufte gHo ÖI fdl Af öll 

(a) length of heating element should be decreased 

b. Incandescent c. Fluorescent d. Hiph pressure soium vapour 

(b) length of heating element should be increased 
(c) length of heating element has no effect on heating if water 

(d) none of the above 

103. Electric current passing through the circuit produces/ qRTY JoRA aril faqya ARI GTA Gd0& 
(a) magnetic effect (b) luminous effect (c) thermal effect (d) chenical effect 
104. n a lamp load when more than one lamp are switched on the total resistance 

(a) increases 

(b) decreases 
c) rernains same 

(d) none of the above 
105. Two lamps 100 W and 40 W are connected in series across 230 V(alternating). 
Which ot the following statement is correct ?/ 4 100 S«Y 3R 40 Sar| 230 di (dofqE) À yUGI À qs 

laj 100 Wiamp ii girw brigter 
140 W lamp w ciow Iignter 
c) Both lamps will plow enuaily bright 
d) 40 w lamp wiid fuse 

(d) None of the above. 

(a) 4.24 Q 
106. Resist ance of 220 V, 100 W lamp will he/ 220 V, 100 W s I ulc BUI 

(b) 48.4 a 
(c) 424 Q 
(d) 4840 Q 
107. In the case af direct urrent/ RI 

(a) magnitude and direction of current remains constant 
Hd I 

(bj magnitude and direction of current changes with time 

(c) magnitude of current changes with time 

(d) magnitude of current renains constant 

108. When electric current passes through a bucket full of water, lot of bubbling is 

11 



observed This suggests that the type of supply is/ fdcud IRI YI-0 fale Rt 

(a) AC. 

(b) D.C. 
(c) any of above two 
(d) none of the above 

109. Resistance of carbo. tiament lamp as the applied voltage increases?./ I| ale Az4v BIÉ 

a) increases 

b) decreases 
c) remains same 

d) none of the ab ve 
110. Ohm's law is not applicable to/ 3�\| TH HI TÀl Bl 
a) semi-conductors 
(b) D.C circuit 
c) small resistore 

ngh currer cs 
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